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from sklearn.linear model import LinearRegression

lin reg = LinearRegression()
lin reg.fit(housing prepared, housing labels)

lin reg.predict(housing prepared)
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from sklearn.tree import DecisionTreeRegressor

tree reg = DecisionTreeRegressor(random state=42)
tree reg.fit(housing prepared, housing labels)

housing predictions = tree reg.predict(housing prepared)
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from sklearn.model selection import cross val score

scores = cross_val score(tree reg, housing prepared, housing labels,
scoring="neg mean_ squared error", cv=10)

tree rmse scores = np.sgrt(-scores)
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from sklearn.model selection import cross val score

cross_val score(tree_reg, housing prepared, housing labels,

scores =
scoring="neg mean_ squared error", cv=10)

tree rmse scores = np.sqgrt(-scores)
o k-4 uxt A5 2 ks MHoNM d5= 5L
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from sklearn.model selection import cross val score

scores = cross_val score(tree reg, housing prepared, housing labels,
scoring="neg mean_ squared error", cv=10)

tree rmse scores = np.sgrt(-scores)
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lin scores = cross_val score(lin_reg,

housing prepared, housing labels,

scoring="neg mean_ squared error", cv=10)
lin rmse scores = np.sqrt(-lin_scores)
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from sklearn.ensemble import RandomForestRegressor

forest reg = RandomForestRegressor(n _estimators=100, random state=42)
forest reg.fit(housing prepared, housing labels)

housing predictions = forest reg.predict(housing prepared)
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from sklearn.ensemble import RandomForestRegressor

forest reg = RandomForestRegressor(n _estimators=100, random state=42)
forest reg.fit(housing prepared, housing labels)

housing predictions = forest reg.predict(housing prepared)
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from sklearn.model selection import GridSearchCVv

param grid = [
{'n estimators': [3, 10, 30], 'max features': [2, 4, 6, 8]},
{'bootstrap': [False], 'n_estimators': [3, 10], 'max features': [2, 3, 4]},

forest reg = RandomForestRegressor(random state=42)

grid search = GridSearchCV(forest reg, param grid, cv=5,
scoring='neg mean squared error',
return train_ score=True)

grid search.fit(housing prepared, housing labels)
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from sklearn.model selection import GridSearchCVv

param grid = [
{'n estimators': [3, 10, 30], 'max features': [2, 4, 6, 8]},
[3, 10], 'max features':

{'bootstrap': [False], 'n_estimators' [2, 3, 41},

= RandomForestRegressor (random state=42)

forest reg =
grid search = GridSearchCV(forest reg, param grid,
scoring='neg mean squared error'

cv=5,

return_train score=True)

grid search.fit(housing prepared, housing labels)
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from sklearn.model selection import RandomizedSearchCV
from scipy.stats import randint

param distribs = {
'n _estimators’
'max_ features'

randint(low=1, high=200),
randint(low=1, high=8),

forest reg = RandomForestRegressor (random state=42)

rnd search = RandomizedSearchCV(forest reg, param distributions=param distribs,
n_iter=10, cv=5,

scoring='neg mean squared error', random state=42)

rnd_search.fit(housing prepared, housing labels)
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from sklearn.model selection import RandomizedSearchCV
from scipy.stats import randint

param distribs = {
'n _estimators’
'max_ features'

randint(low=1, high=200),
randint(low=1, high=8),

forest reg = RandomForestRegressor(random state=42)

rnd_search RandomizedSearchCV(forest reg, param distributions=param distribs,
n_iter=10, cv=5,

scoring='neg mean squared error', random state=42)

rnd_search.fit(housing prepared, housing labels)
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[[(0.36615898061813423,
0.16478099356159054,

‘median_income‘)j
'INLAND'),

(0.10879295677551575,
(0.07334423551601243,
(0.06290907048262032,
(0.056419179181954014,
(0.053351077347675815,
(0.04114379847872964,
(0.014874280890402769,
(0.014672685420543239,
(0.014257599323407808,
(0.014106483453584104,
(0.010311488326303788,

(0.0028564746373201584,
(0.0019604155994780706,

(6.0280386727366e-05,

'pop_per hhold'),
'longitude'),
'latitude'),
'rooms_per hhold'),
'bedrooms per room'),
housing median age'),
'population'),

'total rooms'),
'households'),

'total bedrooms'),
'<1H OCEAN'),

'NEAR OCEAN'),

'NEAR BAY'),
'"ISLAND') ]
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final model = grid search.best estimator
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final model = grid search.best estimator
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final model = grid search.best estimator
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